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Löse die Bruchgleichungen. Finde die Lösungsmenge.

	D = ℚ \ {__}   L = {__________}


Zähler positiv ________________
Nenner negativ ________________
L1 = ________________

Zähler negativ ________________
Nenner positiv ________________
L2 = ________________

L = ________________
	D = ℚ \ {__}   L = {__________}


Zähler positiv ________________
Nenner negativ ________________
L1 = ________________

Zähler negativ ________________
Nenner positiv ________________
L2 = ________________

L = ________________

	D = ℚ \ {__}   L = {__________}


Zähler positiv ________________
Nenner negativ ________________
L1 = ________________

Zähler negativ ________________
Nenner positiv ________________
L2 = ________________

L = ________________
	D = ℚ \ {__}   L = {__________}


Zähler positiv ________________
Nenner negativ ________________
L1 = ________________

Zähler negativ ________________
Nenner positiv ________________
L2 = ________________ 

L = ________________

	D = ℚ \ {__}  L = {__________}


Zähler positiv ________________
Nenner negativ ________________
L1 = ________________

Zähler negativ ________________
Nenner positiv ________________
L2 = ________________

L = ________________

	D = ℚ \ {__}  L = {__________}


Zähler positiv ________________
Nenner negativ ________________
L1 = ________________

Zähler negativ ________________
Nenner positiv ________________
L2 = ________________ 

L = ________________
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